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H30.10.22| 10:45 Ui 20. 2 16.5 M | AR () >100 0. 24 0. 54 W 7.6 8.1 1.3 0.7 4.4 2.4 3 7.5 0. 36 1020
12:20 Ui 24.8 17.4 M| AR () >100 0.45 0.38 W 7.7 8.3 1.2 0.5 4.6 1.7 3 7.6 0.36 928
14:20 Ui 23.8 17.7 M| AR () >100 1. 00 0. 45 ST 7.7 8.4 2.0 0.9 4.5 2.0 2 8.0 0. 37 216
16:25 Eil 19.9 17.6 M| AR () >100 1.16 0.61 ST 7.7 8.1 2.0 1.2 5.2 3.2 2 8.0 0. 42 324
18:35 i 17.0 17.5 M| AR () >100 0.78 0.98 i 7.6 6.8 1.6 1.6 5.3 5.2 2 7.7 0. 47 582
20:20 i 15.6 17.8 ME | AR () >100 0. 26 0.59 W 7.6 6.6 1.3 0.8 5.2 3.1 4 6.9 0. 44 2220
22:20 Hi 14. 4 17.1 e | AR (0 >100 0.25 0. 59 B 7.6 6.8 1.5 0.9 5.5 3.2 3 7.2 0.43 1130
H30.10.23| 0:20 A 14.8 16.7 g | FAR G50 >100 0. 37 0. 50 B 7.5 6.3 1.4 0.7 5.6 2.8 3 7.4 0.43 989
2:25 L 13.0 16. 3 HE | FAR () >100 0.95 1.19 ik 7.5 6.0 1.3 1.5 5.5 6.5 3 7.1 0.43 1130
4:20 2 13.5 15. 8 M | FAR () >100 1.08 1.05 W 7.5 6.5 1.3 1.4 5.4 5.7 2 7.9 0. 46 263
6:20 2 14. 0 15.6 M| FAR () >100 0. 80 1.26 SN 7.6 6.5 1.5 1.9 4.8 6.0 2 8.0 0.41 400
8:15 5] 13.6 15.9 M| AR (#) >100 0.23 0.52 W 7.6 6.3 1.4 0.7 5.2 2.7 6 6.8 0. 40 2580
10:20 5] 12.8 15. 8 M| AR () >100 0. 24 0.57 W 7.6 8.4 0.7 0.4 5.1 2.9 3 7.1 0.39 1280
SN — 24. 8 17.8 — — >100 — 1. 26 — 7 8.4 2.0 1.9 5.6 6.5 6 8.0 0. 47 2580
e/ ME — 12.8 15.6 — — >100 — 0.38 — 7.5 6.0 0.7 0.4 4.4 1.7 2 6.8 0. 36 216
I — 16.7 16.7 — — >100 — 0.71 — 7.6 7.2 1.4 1.0 5.1 3.6 3 7.5 0.41 1000
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